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A FL T % 58 Bk R
LAy T WAL | B (PR | e AT | R | e G ERGLORO Y | T s
big s o i g o i (%) | #& R g i (%)
TSR =X 1| 57,391,945 1| 48,928,355 85.3% 1 51,618,000 1 56,949,652  90.6%
E T =X 1 821,271 1 2,525,712 307.5% 1 1,143,100 1 1,320,486| 83.5%
A L =X 1 232,556 1 703,590| 302.5% 1 238,500 1 270,483 88.2%
PR =X 1 469,350 1 1,700,100| 362.2% 1 378,000 1 470,520|  76.5%
PRIIES| A = 1 119,365 1 122,022 102.2% 1 31,600 1 34,533 91.5%
7 A T 2y - - - - - 1 495,000 1 544,950| 86.7%
T =X 1| 16,591,240 1| 10,792,250 65.0% 1 7,685,500 1 11,208,990| 67.4%
iR T =X 1| 16,591,240 1| 10,792,250 65.0% 1 7,685,500 1 11,208,990 67.4%
[ ZEmn 2y 1 2,161,212 1 2,073,561 95.9% 1 2,243,676 1 2,266,031 99.1%
[ ZEmn =X 1 1,984,868 1 1,901,071 95.8% 1 2,072,960 1 2,083,030 99.6%
gRa ) —h T =X 1 176,344 1 172,490 97.8% 1 170,716 1 183,001 93.3%
f1+7 ny JFE(R) 2y 1 3,555,204 1 3,594,270 101.1% 1 2,924,881 1 2,908,334 97.7%
E¥(+T =X 1 47,646 1 51,020 107.1% 1 51,020 1 48,186| 105.9%
)Y —=7"ay) LT 2y 1 3,507,558 1 3,543,250 101.0% 1 2,873,861 1 2,860,148 97.6%
HERE T 2y 1 108,107 1 104,666 96.8% 1 2,039,994 1 1,995,197| 100.5%
EELT =X - - - - - 1 53,760 1 62,082 86.6%
ST FIHERE L (G HAT) =X 1 108,107 1 104,666| 96.8% 1 1,812,194 1 1,768,897 100.6%
U FIT ¥ T HiERE 1 =X - - - - - 1 174,040 1 164,218| 104.9%
BB T =X 1 1,599,524 1 1,475,700  92.3% 1 290,000 1 272,091| 100.2%
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A FL g T & 58 ik RF
%ﬁ'ﬁ’\'l@' HAL | BRI (PEm) S | ol CARTE) j:éf! e (R JEE) B () %@/ i %
BE BHE HE BHE (%) | #HE BHA E BHE (%)
BB T =X 1 1,599,524 1 1,475,700  92.3% 1 290,000 1 272,091| 100.2%
Pek A 1 =X 1| 13,127,562 1| 10,899,885| 83.0% 1 12,067,798 1 12,909,556  93.5%
A% =X 1| 12,447,452 1| 10,226,366| 82.2% 1 11,891,460 1 12,689,646 93.7%
BIRL =X 1 53,980 1 49,039|  90.8% 1 49,039 1 53,980 90.8%
KMk T =X 1 289,020 1 267,940  92.7% 1 127,299 1 165,930  76.4%
Pk L =X 1 337,110 1 356,540 105.8%| - - - - -
BREME L =X 1 5,355,925 1 3,645,513  68.1% 1 6,376,192 1 6,590,005 96.8%
AT T =X 1 309,360 1 281,200  90.9% 1 309,360 1 309,360| 100.0%
B 11 L =X 1 5,046,565 1 3,364,313  66.7% 1 6,066,832 1 6,280,645 96.6%
BhEE T =X 1 5,230,334 1 5,134,747| 98.2% 1 11,069,878 1 10,836,651 100.1%
S e (R =X 1 174,971 1 179,897| 102.8% 1 403,620 1 403,923( 100.0%
T A7 7 VN (1) HE R X 1 952,952 1 954,226 100.1% 1 961,928 1 961,928( 100.0%
7 A7 7 NZE T(DASER X 1 120,048 1 121,984| 101.6% 1 5,419,400 1 5,369,665 99.6%
T A7 7N T(2) 2y 1 930,816 1 934,048| 100.3% 1 1,053,058 1 1,052,985[ 100.0%
7277V MEZE T(3) =X 1 76,608 1 74,256 96.9% 1 119,064 1 104,214| 114.2%
T 277 VM2 T(4) 3 A EB X 1 71,440 1 69,680 97.5% 1 71,440 1 71,440| 100.0%
T A7 7 VN () AER X 1 173,514 1 165,348  95.3% 1 173,520 1 173,514| 100.0%
T AT 7 VRS T(5)BE B X 1 2,729,985 1 2,635,308|  96.5% 1 2,796,976 1 2,642,858| 100.0%
7277 VM T.(6) 2V - - - - - 1 44,384 1 37,896| 117.1%
T 277 VMEZE T(T) E2V - - - - - 1 26,488 1 18,228 145.3%
PR T =X 1 708,787 1 637,704  90.0% 1 297,000 1 310,500  95.7%
PR T =X 1 708,787 1 637,704  90.0% 1 297,000 1 310,500  95.7%
A IR Rk T =X 1 7,841,450 1 7,711,638 98.3% 1 5,037,115 1 5,533,298 91.4%
FRT =X 1 449,350 1 447,450  99.6%| - - - - -
EATEY L =X 1 6,194,400 1 5,661,468| 91.4% 1 5,037,115 1 5,533,298 91.4%
Tk T =X 1 308,500 1 487,200 157.9%| - - - - -
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A FL g T & 58 ik RF
%ﬁ'ﬁ’\'l@' HAL | BRI (PEm) S | ol CARTE) j:éf! e (R JEE) B () %@/ i %
BE BHE HE BHE (%) | #HE BHA E BHE (%)
PRHERR T =X 1 889,200 1 1,115,520 125.5%| - - - - -
HEEHE T = 1 291,329 1 332,709| 114.2% 1 442,865 1 798,513| 55.5%
Blyaia 2 =X 1 11,361 1 10,080| 88.7% 1 111,679 1 422,859 26.4%
PR &S T =X - - - - - 1 1,245 1 26,325|  4.7%
HEEY HUEL T = 1 113,933 1 135,761 119.2% 1 151,095 1 146,223| 103.6%
AL ER T =X 1 166,035 1 186,868| 112.5% 1 178,846 1 203,106 88.1%
[EEEI X ¢ 2y 1| 57,391,945 1| 48,928,355| 85.3% 1 51,618,000 1 56,949,652|  90.6%
iR 2y 1 7,642,925 1 4,905,020  64.2% 1 4,386,000 1 8,527,035 51.4%
e ST ey 2y 1 1,737,925 1 991,020 57.0% 1 2,494,000 1 1,807,035[ 138.0%
Erge iy 2y 1 931,200 1 931,200| 100.0% 1 1,574,000 1 999,310| 157.5%
Betlrg BRE =X 1 273,725 1 59,820 21.9% 1 260,000 1 273,725  95.0%
AA=TT 7 (FE L) =X 1 533,000 1 - 0.0% 1 660,000 1 534,000| 123.6%
i g (RE L) =X 1 5,905,000 1 3,914,000 66.3% 1 1,892,000 1 6,720,000| 28.2%
T HE 2y 1| 65,034,870 1| 53,833,375| 82.8% 1 56,004,000 1 65,476,687| 85.5%
Bl B 2y 1| 17,604,000 1| 11,059,000| 62.8% 1 8,146,000 1 17,717,000|  46.0%
TR 2y 1| 82,638,870 1| 64,892,375| 78.5% 1 64,150,000 1 83,193,687| 77.1%
—WE RS =X 1 9,321,130 1 6,107,625 65.5% 1 7,300,000 1 9,366,313  77.9%
Tk 2y 1| 91,960,000 1| 71,000,000| 77.2% 1 71,450,000 1 92,560,000| 77.2%
THEBiAH 4 %1 =X 1 4,598,000 1 3,550,000 77.2% 1 3,572,500 1 4,628,000 77.2%
THEG 2y 1| 96,558,000 1| 74,550,000| 77.2% 1 75,022,500 1 97,188,000| 77.2%
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toilgk —2 B
AR F IR 3 5 Bl & o bR

D AT, IR R- UK 202 TRA T2 8T 2, SHIZZFOIHNMERG A, AERE AL O/ 5I0127 5,
= OA B 4 2) MEIOBEREREMT EME B L OB IDIL, BIEEDNLATIM RO THAR ITTBALLRNT IS,
T # 4 ER2OMEE SIS LA X BR B T
e P RO (T2t il (5T 7E) il GRS ER) BB G i %
ik B %8 Bk B %8 ik B X ik B &

ST g=S = 1 - 57,391,945 1 - 48,928,355 1 - 51,618,000 1 - 56,949,652
EH+T = 1 - 821,271 1 - 2,525,712 1 - 1,143,100 1 - 1,320,486
JEHI T X 1 - 232,556 1 - 703,590 1 - 238,500 1 - 270,483
PRE (=) A L m3 470 495 232,556 470 1,497 703,590 400 450 180,000 400 497 198,840
RN R A L m3 - - - - - - 390 150 58,500 390 184 71,643
AR T 2V 1 - 469,350 1 - 1,700,100 1 - 378,000 1 - 470,520
PR ARG 1) m3 450 1,043 469,350 450 3,778| 1,700,100 360 1,050 378,000 360 1,307 470,520
IR T =X 1 - 119,365 1 - 122,022 1 - 31,600 1 - 34,533
ERTRSIACTIR ) m2 90 680 61,173 90 693 62,406 8 650 5,200 8 680 5,437
TR0 1350) m2 160 364 58,192 160 373 59,616 80 330 26,400 80 364 29,096
P AL T =x - - - - - - 1 - 495,000 1 - 544,950
b2t Ui m3 - - - - - - 450 1,100 495,000 450 1,211 544,950
L = 1 - 16,591,240 1 - 10,792,250 1 - 7,685,500 1 - 11,208,990
AT oV 1 - 16,591,240 1 - 10,792,250 1 - 7,685,500 1 - 11,208,990

i A= B AR A I B em m2 90 4,367 393,030 90 4,345 391,050 - - - - - -
% TR AR 2cm m2 310 1,463 453,530 310 2,120 657,200 80 2,100 168,000 80 1,463 117,040
BB (o VAR L L) m2 8,120 1,939 15,744,680| 8,120 1,200  9,744,000| 4,850 1,550 7,517,500| 4,850 2,287 11,091,950
BT X 1 - 2,161,212 1 - 2,073,561 1 - 2,243,676 1 - 2,266,031
e ZEmn X 1 - 1,984,868 1 - 1,901,071 1 - 2,072,960 1 - 2,083,030
HRELEE R 7 By C-1 m 42 5,947 249,774 42 5,717 240,114 36 5,900 212,400 36 5,947 214,092
HRELEE S 7 Y/ G-1 m 319 5,258| 1,677,302 319 5,029| 1,604,251 330 5,260 1,735,800 330 5,258 1,735,140
HRELEEE S 7 Y/ G-5 m - - - - - - 11 5,360 58,960 11 6,034 66,374
T AN—7 AR T A2 (13) m 60 963.2 57,792 60 945.1 56,706 70 940 65,800 70 963 67,424
E )b T =X 1 - 176,344 1 - 172,490 1 - 170,716 1 - 183,001
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e P RO (T2t il (5T 7E) GRS ER) BB G i %
Bk B il ik B AR ik B X ik B &4
JEa /) —F18-8-40BB t=100 m2 94 1,876 176,344 94 1,835 172,490 91 1,876 170,716 91 2,011 183,001
177 ay JFEGR) T =X 1 - 3,555,204 1 - 3,594,270 1 - 2,924,881 1 - 2,908,334
EELT = 1 - 47,646 1 - 51,020 1 - 51,020 1 - 48,186
RARD m3 30 354 10,626 30 452 13,560 30 452 13,560 30 372 11,166
ML m3 20 1,851 37,020 20 1,873 37,460 20 1,873 37,460 20 1,851 37,020
2v))=+7"ry) T =X 1 - 3,507,558 1 - 3,543,250 1 - 2,873,861 1 - 2,860,148
)Y =7 oy FAE(DW=550 H=3] m 22 5,894 129,668 22 8,105 178,310 20 6,100 122,000 20 5,894 117,880
2 ))—b7 ay ) FhE(2)W=520 H=3 20 5,616 112,320 20 7,698 153,960 - - - - - -
29—y FERE(2)W=550 H=3 - - - - - - 3 6,924 20,772 3 6,920 20,760
2/ ))—b7 my /551 #E35em Eavl| m2 132 19,170 2,530,440 132 18,909| 2,496,001 126 19,225 2,422,350 126| 19,210 2,420,460
2 )17 ny SRS (2)¥E35cm 1| m2 371 17,040 630,480 371 16,603 614,299 - - - - - -
a7 ay SR (2)$E35em BEavl|  m2 - - - - - - 12| 19,225 230,700 12| 18,310 219,720
Riga ) —N1)W=890 m3 2| 35,360 70,720 2| 33,560 67,120 2| 33,930 67,860 2| 35,360 70,720
Riga ) —N2)W=690 m3 1| 33,930 33,930 1| 33,560 33,560 - - - - - -
Riga ) —N2)W=780 m3 - - - - - - 0.3] 33,930 10,179 0.3] 35,360 10,608
PiEEE T 2V 1 - 108,107 1 - 104,666 1 - 2,039,994 1 - 1,995,197
EELT = - - - - - - 1 - 53,760 1 - 62,082
RHED m3 - - - - - - 60 253 15,180 60 407 24,402
ML m3 - - - - - - 30 1,286 38,580 30 1,256 37,680
BRI R T (R 1k BAAT) X 1 - 108,107 1 - 104,666 1 - 1,812,194 1 - 1,768,897
/N BiERE18-8-40BB m3 - - - - - - 8| 43,000 344,000 8| 42,840 342,720
) HEEE18-8-40BB ImZ#%| m3 3| 34,420 103,260 3| 34,450 103,350 - - - - - -
) HERE18-8-40BB 2m» 550 m3 - - - - - - 47| 31,000 1,457,000 47( 30,120 1,415,640
BRIV AHE R A RRAT b=400 t1 m2 1 4,644 4,644 1 1,121 1,121 - - - - - -
BRIV AE R AT 300X30  m2 - - - - - - 0.4 1,121 448 0.4 1,121 448
BRIV AAHE R ARRAT b=300 t1 m2 - - - - - - 9 1,194 10,746 9 1,121 10,089
MR Z2iFALPE ¢ 100X 3.0 X 200 m 0.4 509 203 0.4 488 195 - - - - - -
LT THERE L = - - - - - - 1 - 174,040 1 - 164,218
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A FLE T = 5% ik ¥
LA R (M) T T e R () ™ i &
$om: B %8 B %8 B X B &4
2/7)—h18-8-40BB - - - - 18,760 75,040 16,750 67,000
gityes - - - - 5,500 99,000 5,401 97,218
MEE: T = 1 - 1,599,524 - 1,475,700 - 290,000 - 272,091
MEE: T = 1 - 1,599,524 - 1,475,700 - 290,000 - 272,091
B (1) X 1 - 272,238 - 275,700 - 290,000 - 272,091
[23230)) =X 1 - 1,327,286 - 1,200,000 - - - -
P& T X 1 - 13,127,562 - 10,899,885 - 12,067,799 - 12,909,556
A T =x 1 - 12,447,452 - 10,226,366 - 11,891,460 - 12,689,646
7V ANUAHMAITEPU1-300B m 1 7,564 7,564 7,962 7,962 - - - -
7° VR ANUBAI#PU2-300A m - - - - 8,700 278,400 7,826 250,432
7° VR ANUBRI#PU2-400A m 2 9,110 18,220 2| 10,240 20,480 - - - -
7V ANUARNEPU3-250 m - - - - 8,500 263,500 8,566 265,546
7V AMUBUAIEBF1-300 m 6 6,313 37,878 6 7,094 42,564 - - - -
B 2 ERIHE300 X 300 EEEEE  m 8| 19,530 156,240 8| 19,420 155,360 19,420 349,560 19,530 351,540
2 X 1 - 12,227,550 1 - 10,000,000 - 11,000,000 1 - 11,822,128
BT =X 1 - 53,980 1 - 49,039 - 49,039 1 - 53,980
BIEELE =V ¢ 150 m 3 1,987 5,961 3 1,916 5,748 1,916 5,748 3 1,987 5,961
BIEELE =V ¢ 300 m 7 6,327 44,289 7 6,065 42,455 6,065 42,455 7 6,327 44,289
27— FL ¢ 180 t=100 E AT 1 3,300 3,300 1 418 418 418 1 3,300 3,300
a7 —hAIFL ¢ 180 t=150 =5 1 430 430 1 418 418 418 1 430 430
==Y/ e S =X 1 - 289,020 1 - 267,940 - 127,300 1 - 165,930
£E K G 1-B800-1.800-H1400 =50 1| 110,000 110,000 1| 101,300 101,300 101,300 101,300 1| 110,000 110,000
£k HEG2-B600-1.600-H800 =5 1| 44,620 44,620 1| 44,640.0 44,640 - - - -
HF U At R 1| 26,500 26,500 1| 26,610 26,610 - - - -
k5 = 1 - 107,900 1 - 95,390 - 26,000 - 55,930
Bk T E2\ 1 - 337,110 1 - 356,540 - - - -
PLARI#PL3-B500-H150 m 26 12,030 312,780 26 12,860 334,360 - - - -
BRI R & 1| 24,330 24,330 1| 22,180 22,180 - - - -
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N A FLE T = 5% ik ¥
L e T s FROL (T fif5) i CH B T ) il GRS BRI ) ™ i %
Bk B %8 ik B %8 ik B X ik B &4

By REHE T = 1 - 5,355,925 1 - 3,645,513 1 - 6,376,192 1 - 6,590,005
FRANBS M L = 1 - 309,360 1 - 281,200 1 - 309,360 1 - 309,360
#'—=NV—=AGr-C-4E m 40 7,734 309,360 40 7,030 281,200 40 7,734 309,360 40 7,734 309,360
55 1Al L G2\ 1 - 5,046,565 1 - 3,364,313 1 - 6,066,832 1 - 6,280,645
HEPEBG IEHIH(DH=1100 m 403 8,405 3,387,215 403 5,500 2,216,500 559 8,750 4,891,250 559 8,405 4,698,395
HRYE [ 1R HIH2)H=800 L=2000 & T 6] 16,360 98,160 6] 11,310 67,860 6] 20,400 122,400 6] 16,360 98,160

HRPE RS LM P BEW=900 EPT 1| 51,200 51,200 1| 65,300 65,300 - - - - - -
N2 B IEMIFH=1500 m 83|  12,950| 1,074,850 83 8,651 718,033 81 9,062 734,022 81| 12,950 1,048,950
SRS 1EF == W=1500 L 6] 46,830 280,980 6| 36,820 220,920 6| 36,800 220,800 6| 46,830 280,980
32 B AR P BEW=1000 (&0 2| 77,080 154,160 2| 37,850 75,700 2| 49,180 98,360 2| 77,080 154,160
LT 2V 1 - 5,230,334 1 - 5,134,747 1 - 11,069,878 1 - 10,836,651
AR T 2V 1 - 174,971 1 - 179,897 1 - 403,620 1 - 403,923
EFETE m2 1,880 93 174,971| 1,880 95.7 179,897 4,340 93 403,620 4,340 93 403,923
7 A7 7N (D) BLE =X 1 - 952,952 1 - 954,226 1 - 961,928 1 - 961,928
RKETFAEBRET 277 VNEG Y m2 637 1,496 952,952 637 1,498 954,226 643 1,496 961,928 643 1,496 961,928
7 A7 7 VN T(DAGETS =X 1 - 120,048 1 - 121,984 1 - 5,419,400 1 - 5,369,665
AR ATy v—T/(RC-40) t=1( m2 55 881 48,438 55 882 48,504 2,450 882 2,160,900 2,450 881 2,157,715
KETFAEBRET 277 VNES (] m2 55 1,302 71,610 55 1,336 73,480| 2,450 1,330 3,258,500| 2,450 1,311 3,211,950
T A7 7ML T(2) =x 1 - 930,816 1 - 934,048 1 - 1,053,058 1 - 1,052,985
TS ATy 4=/ (RC-40)  m2 320 741 237,216 320 745 238,528 362 745 269,690 362 741 268,350
- JE AR R SRR (M-25) 5 m2 320 672 214,880 320 676 216,160 362 676 244,712 362 672 243,083
KETFAEBRET 277 VNEG Y m2 320 1,496 478,720 320 1,498 479,360 362 1,488 538,656 362 1,496 541,552
T A7 7ML T(3) =X 1 - 76,608 1 - 74,256 1 - 119,064 1 - 104,214
WALy 4—7/(RC-40) t=1( m2 - - - - - - 44 882 38,808 44 545 23,958
KEFAEBRET 277 VNES Y] m2 42 1,824 76,608 42 1,768 74,256 44 1,824 80,256 44 1,824 80,256
T 277 MM T (4) 3 AR =X 1 - 71,440 1 - 69,680 1 - 71,440 1 - 71,440
AR AT 9y —T/(RC-40) t=2] m2 20 1,958 39,160 20 1,960 39,200 20 1,960 39,200 20 1,958 39,160
RKETFAEBRET 277 VNEG Y m2 20 1,614 32,280 20 1,524 30,480 20 1,612 32,240 20 1,614 32,280

ek —2 4/7)




e P RO (T2t ik CHpITE) il GRS ER) BB G i %
Bk B %8 ik B %8 ik B X ik B &4

7 A7 7 VN () AE =X 1 - 173,514 1 - 165,348 1 - 173,520 1 - 173,514
TAME—JETD t=50 m2 60 760 45,612 60 693 41,574 60 693 41,580 60 760 45,612
AR A T9v—T/(RC-40) t=1(  m2 60 881 52,842 60 882 52,914 60 882 52,920 60 881 52,842
KIGZKVET AT 7 VMRS #49E)  m2 60 1,251 75,060 60 1,181 70,860 60 1,317 79,020 60 1,251 75,060

T AT 7 VI3 T(5)BE B = 1 - 2,729,985 1 - 2,635,308 1 - 2,796,976 1 - 2,642,858
AR AT 9y —T/(RC-40) t=1] m2 752 741 557,457 752 745 560,540 728 745 542,360 728 741 539,666
FEE T ARRLET 277 VMBS m2 752 1,452| 1,091,904 752 1,367 1,027,984 728 1,485 1,081,080 728 1,452 1,057,056
RKETFAEBRET 277 VNEG W m2 752 1,437| 1,080,624 752 1,392 1,046,784 728 1,612 1,173,536 728 1,437 1,046,136

T 277 MM T(6) M - - - - - - 1 - 44,384 1 - 37,896
WALy 4—7/(RC-40) t=1( m2 - - - - - - 16 882 14,112 16 545 8,712
KEFEBRETA77VNEAEW( m2 - - - - - - 16 1,892 30,272 16 1,824 29,184

T A7 7 MMNEZE T(T) M - - - - - - 1 - 26,488 1 - 18,228
KEFEBRETA77VNEAEY( m2 - - - - - - 14 1,892 26,488 14 1,302 18,228

X R L =X 1 - 708,787 1 - 637,704 1 - 297,000 1 - 310,500

X R L = 1 - 708,787 1 - 637,704 1 - 297,000 1 - 310,500
NANNKKER A B NE m 2,570 115 295,550 2,570 110 282,700 2,700 110 297,000 2,700 115 310,500
NANKK IR A R E m 325 225 73,125 325 220 71,500 - - - - - -
WA ERAE-FE 5 CF 1] m 464 733 340,112 464 611 283,504 - - - - - -

TEFE AT R MRk L oV 1 - 7,841,450 1 - 7,711,638 1 - 5,037,115 1 - 5,533,298

BRT =X 1 - 449,350 1 - 447,450 - - - - - -

B RAT120 X 120 X 1000 AR 95 4,730 449,350 95 4,710 447,450 - - - - - -

EHEA R L 2V 1 - 6,194,400 1 - 5,661,468 1 - 5,037,115 1 - 5,533,298
TY)=x—4—(A)BEERL ¢ 100(FH & 38 7,760 294,880 38 5,660 215,080 6 6,660 39,960 6 8,003 48,018
7Y)=x—4—(B)BI S ¢ 1000EEY A& 21| 10,230 214,830 21 7,814 164,094 21 7,814 164,094 21| 10,580 222,180
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